Sec. 1-4 Identity and Equality Properties

Additive Identity: For any number a, the sum of aand O is a.
ex. 5+0=5 ex. 0+x=x

Additive Inverses: Two numbers with a sum of zero.
ex. 6+ (—6) =0 ex. (—x)+x=0

Multiplicative Identity: For any number a, the product of aand 1 is a.
ex. xel=x ex.8¢1 =8

Multiplicative Property of Zero: For any number a, the product of a
and O is O.
ex. 7¢0=0 ex. 0(x) =0
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Reflexive: Any quantity is equal to itself.
ex. a=a ex. 2+3=2+3

Symmetric: If one quantity equals a second quantity, then the second
quantity equals the first quantity.
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ex. Ifa=b,thenb=a. ex. f3+5=8,then8=3+5

Transitive: If one quantity equals a second quantity and the second
guantity equals a third quantity, then the first quantity equals the
third quantity.

ex. fa=bandb=c,thena=c.

ex. f2+4=6and6=1+5,then2+4=1+5

Substitution: A guantity may be substituted for its equal in any
expression.
ex. If a=b, then a may be replaced by b in any expression

ex. If n=15, then 3n = 3(15)

Evaluate:
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Evaluate:
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